(10.35)

(r’ — W(tr)) dr’
I

e

1
4re,

V(r,t)

p.431

XxX=ct

rest length

A

XxX=ct

A




Ex. 10.3 p.433

t, =0 (10.41)
Czt—r'VZ\/(Czt—l’-V)z+(CZ—V2)(r2—CZt2)
1 qc 1 q
V I’,t = = _ t _t_
(r.t) Amg, C*t—r-v  dzgy oV vt v(t-t,) present position
¢ o vt >
c>V( ) ct—(r-\7)1=r—(r.\7)!>o
C C
c
—<V( ) V(rt) 0
n
V(rt)=—1 4
4re, t—r.
n c/n
c v
Ht - C/_n =0 Cherenkov
C., C vt present position
(=)°t=r-v=rvcos¢ A
n n
r="t E=vcos¢ ¢
n n >
vt
Prob. 10.14
V(rt) =1 q

Areq \J(ct —r-vic)? +(1—-v2/c?)(r? —c?t?) R=clt-t)
(ct —r-v/c)> + (L—-v?/c?)(r? —c’t?)
=c’t?—2tr-v+(r-v)?/c®+r?—c’t? —r’v?/c? +v’t?
= -2tr-v+(r-v)®/c®+r?—r?v?/c? +v?t?
=r®>—-2r-vt+vit? —[r?v?/c?> - (r-v)*/c?] o > | S —

2
\Yj _ -
=(r-vt)?—r? — (1 cos 2.9) vt, v(t-t,) present position
C

»
»

2 o vt

v .
= sz—rz—zsmze
c

2
R,Z - Vosin?p) -~V (rt) = d
C 472'80 V2 .
Rp 1—C—25In Q@

p=rn—y ¢=rl2—y sinp=sin(z/2+¢)=cos¢

V(rt)=—" g __1 g

dre 2 Are 2
"R, 1-—sin? "R, [1- Y _costg
(c/n) (c/n)

Cherenkov




pp.435-438

R=r-w
R=|r-w(t,)=c(t-t,)
tr:t—E
C
w(t):
dw(t)j
v=|—=| =v(t
& =)
Vit -+
4rey, RC—R-v
0 qc -1 0
VW =—V(r,t)= —(Rc-R-v) (10.49
or (.9 47ng(Rc—R-v)28r( ) (1049)
SRR _N () @os0)
or or ot, or
R=c(t-t,(r,t)) (10.41)
(10.51) p.21 (i)
i j k
axVt =la, a, a,| (10.59)
o o o
ox oy oz

V(R-v)=a(R-Vt,)+v-v(v-Vt,)-Rx(axVt,)+vx(vxVt,)
=a(R-Vt)+v—v(v-Vt)—-a(R-Vt )+ Vt (R-a)+v(v-Vt,) -Vt (v?)
=v+Vt (R-a-v?) (10.58)

(10.60) p21 (i)

—CcVt, =%[R—V(R-Vtr)+ Rx (vxVt,)]

—Z[R-V(R-V8) + V(R- V1)~ Vt,(R V)]

:%[R—Vtr(R V)] - (10.61)



Rc—R-v=R-u withu=cR-v

oA 1 qc s
E(r,t)=-VV ——=- Rc—-R-vlv—(c“-v°+R-a)R 10.62
(r,t) p I, (Rc—R-v)3[( WV —( )R] ( )
1 qc R, 2 .2
- Rc-R-v)(-v+Ra/c)+—(c” - R-a 10.63
I, (Rc—R-v)3[( )=V + )+C( vi+R-a)v] ( )
1 qc

_47zgo (R-u)’
1 qc
47[80 (R- u)
1 2 2 . _
i, (R.u)3 (R-0)Ra (6" —v" + R-a)v— o)
1
= "R u) ~[(R-u)Ra+(c® —v? + R-a)(—Ru)]
__9 R
47[80 (R-u)’

{[(R-u)v—(c2 —Vv2+R-a)R]+[(R-u)(-v + Ra/c)+§(c2 —vZ 4 R-a)v]}

{(R uRa/c+(c*-v? +R- a)(—v R)}

~[(R-a)u—(R-u)a+(c* —v*)u] (10.65)

Prob. 10.17
Eq.10.33 c(t-t,)=R
c’(t-t)*=R*=R-R

OR
t 2c%(t—t l—— 2R-—
(t-t,)( )= p
OR
cR 1— R-—
( ) x
R:r—w(tr)

ot 5_ o ot ot
a,
ot

R__ow__awat, __ &

cR(l— )——R

R=r(R-R-v)=Tr(R-u) Eq.10.64
o ¢ )at( ) Eq

ot _ R
ot R-u



